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9,960 40
/ =398.4 9,960 1 / =9.96 408.36

 
 

 
      

 9,960 7,582/  = 75,516,720 9,960 4,650/  = 46,314,000 29,202,720 

 9,960 2,550/ = 25,398,000 9,960 3,363/  = 33,495,480 -8,067,600 

 24.9 1,590/  = 39,591 408.36 1,590/ = 649,292 - 609,701 

 4 24,337/   = 97,348 66 24,337/  = 1,606,242 -1,508,894 

 24.9 71,000/  = 1,767,900 408.36 71,000/  = 28,993,560 -27,225,660 

 24.9 1,000/  = 24,900 408.36 1,000/  = 408,360 - 383,460 

   102,844,459 111,466,934 - 8,622,475  
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408.36 24.9 383.46
8,622,475  

 
 
 

 


